#define LED1
#define LED2
#define LED3
#define LED4
#define LED5
#define LED6
#define LED7
#define LEDS8
#define LED9
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#define LED10 13//Z 4% I
#define SW1 A1 //Z#HZEEE
#define SW2 A2 //Z& S48 1E
#define SW3 A3 //Z5 W45 1k
#define SW4 A4 //Z5 58251
#define SW5 A5 //Z5 5451k
int mode = 0; //ZEEEEE
void setup() {//Z5% 2% 1. INPUT_PULLUP @ & INPUT I Z85T]

Serial.begin(2000000);

pinMode(LED1, OUTPUT);

pinMode(LED2, OUTPUT);

pinMode(LED3, OUTPUT);

pinMode(LED4, OUTPUT);

pinMode(LED5, OUTPUT);

pinMode(LED6, OUTPUT);

pinMode(LED7, OUTPUT);

pinMode(LED8, OUTPUT);

pinMode(LED9, OUTPUT);

pinMode(LED10, OUTPUT);

pinMode(SW1, INPUT_PULLUP);//INPUT Ic 25 r]

pinMode(SW2, INPUT_PULLUP);//INPUT (CZZ 5 A]

pinMode(SW3, INPUT_PULLUP);//INPUT Ic £ 5 a]

pinMode(SW4, INPUT_PULLUP);//INPUT I 28 55 1]

pinMode(SW5, INPUT_PULLUP);//INPUT I & 5 r]

void loop() {//Z5 5645 11
mode = Swcheck();

Serial.println(mode);

if (mode ==1) {
Led1();



if (mode == 2) {
Led2();

}

if (mode == 3) {
Led3(150);

}

if (mode == 4) {
Led4(150, 300);

¥

if (mode == 5) {
Led5(300, 500);

¥

if (mode == 0) {
Led0();

int Swcheck() {//Z %k |-
if (digitalRead(SW1) == LOW && digitalRead(SW2) == HIGH && digitalRead(SW3) == HIGH
digitalRead(SW4) == HIGH && digitalRead(SWS) == HIGH) {

return 1;

}
if (digitalRead(SW1) == HIGH && digitalRead(SW2) == LOW && digitalRead(SW3) == HIGH
digitalRead(SW4) == HIGH && digitalRead(SW5) == HIGH) {

return 2;

}
if (digitalRead(SWl) == HIGH && digitalRead(SWZ) == HIGH && digitalRead(SW3) == LOW
digitalRead(SW4) == HIGH && digitalRead(SW5) == HIGH) {

return 3;

}
if (digitalRead(SW1) == HIGH && digitalRead(SW2) == HIGH && digitalRead(SW3) == HIGH
digitalRead(SW4) == LOW && digitalRead(SW5) == HIGH) {

return 4;
}
if (digitalRead(SW1) == HIGH && digitalRead(SW2) == HIGH && digitalRead(SW3) == HIGH
digitalRead(SW4) == HIGH && digitalRead(SW5) == LOW) {
return 5;
¥

if (digitalRead(SW1) == HIGH && digitalRead(SW2) == HIGH && digitalRead(SW3) == HIGH
digitalRead(SW4) == HIGH && digitalRead(SW5) == HIGH) {

return 0;
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